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Oy 150kPa

1. Consider the 2-D state of stress shown to the right. Oxy= 00

Find (a) the values of stress a',,, a',, a', for
3 , . — G- 120K
=45 (10%), and (b) the principal stresses and 4 i
the maximum shearing stress (10%). | e '.;-—:{ _—
. Consider members under axial loading as shown below. Find the end displacement & in each of the
members (20%).
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. Consider members subjected to the torques(s) as shown below. Find the angle of twist at the end of
the cylinder for each case (20%).
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. Modeling a saccular aneurysm (FE/{RE)FR/A) as a thin-walled sphere, assume that it has an inner
radius of 2.5 mm and a thickness of 15 um at a mean blood pressure of 120 mmHg. Calculate the

stress gy or o, (15%), and determine if rupture is likely if the critical stress is on the order of 5

MPa (5%).
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. The rigid bar DEF is welded at point D to the steel beam AB.
For the loading shown, determine (a) the equation defining
the shear and bending moment at any point of the beam -
(15%), (b) the location and magnitude of the largest bending L—zm—‘ . ,L, 15m

09
moment (5%). 00N "




